


Q.1 Choose the odd one out ?/ 

विषम चुनें?

A. BDE

F 

B. LMN

O 

C. IJKL 

D. ABC

D



Q.2 S is the sister of T. R is 

the brother of S. U is the wife 

of W. T is the father of U. 

How is T related to W?

S, T की बहन ह।ै R, S का भाई ह।ै 

U, W की पत्नी ह।ै T, U का वपता 

ह।ै T, W से ककस प्रकार संबंवित ह?ै

1. father
2. father-in-law
3. Uncle
4. Son

A. Father/ वपता

B. Father-in-law/

ससुर

C. Uncle/ अंकल

D. Son/ बेटा



Q.3A piece of paper is folded and cut as shown below in the 

question figures from the given answer figures, indicate how it 

will appear when unfolded?

नीचे दी गई उत्तर आकृवतयों में से प्रश्न आकृवतयों में दर्ााए अनुसार कागज के 

टुकडे को मोडा और काटा जाता ह,ै बताएं कक खोलने पर यह कैसा कदखाई दगेा?

A. A 

B. B 

C. C 

D. D

A B

C D



Q.4 Select the figure that will come next (in place of the 

question mark [?]) in the following figure series.

वनम्नवलवखत आकृवत श्ृंखला में आगे आने िाली आकृवत (प्रश्न वचह्न [?] 

के स्थान पर) का चयन करें।

A B

C D

A. A 

B. B 

C. C 

D. D



Q.5 In a certain code language, 'TEFLOANS' 

is written as '2056121226138', 'SERGEANT’ is 

written as '1951872226137'. How is 

‘UNIQUELY’ written in this code language?

एक वनवित कूट भाषा में, 'TEFLONS' को 

'2056121226138', 'SERGEANT' को 

'1951872226137' वलखा जाता ह।ै इस कूट भाषा में

'UNIQUELY' कैसे वलखा जाता ह?ै

A. 21159176231

52 

B. 21149176321

42 

C. 21149176221

52 



Q.6 Select the option in which the words 

have the same relation between the words 

of the word pair given below?

उस विकल्प का चयन करें वजसमें नीचे कदए गए र्ब्द 

युग्म के र्ब्दों के बीच समान संबंि हो?

Tea : Cup :: ?/ चाय : कप :: ?
A. Paper : 

Pulp

B. Milk : 

Drink

C. Food : 

plate

D. Glass: 

A. कागज : 

गूदा

B. दिू : पीना

C. भोजन : 

थाली

D. वगलास: 

पानी



Q.7 Select the option that will correctly 

replace the question mark (?) in the 

following series.

उस विकल्प का चयन करें जो वनम्नवलवखत 

श्ृंखला में प्रश्न वचह्न (?) को सही ढंग से 

प्रवतस्थावपत करेगा।
129,    126,       123,      120,       

117,        ? 

A. 114 

B. 113 

C. 112 

D. 115



Q.8 Select the option in which the 

words have the same relation 

between the words of the word pair 

given below?

उस विकल्प का चयन करें वजसमें नीचे कदए 

गए र्ब्द युग्म के र्ब्दों के बीच समान संबंि 

हो?

कलम : लेखक :: 

कुल्हाडी : ?
Pen : Writer :: Axe 

: ?
A. 

Teacher

B. cook

C. 

Woodcutte

r

A. वर्क्षक

B. पकाना

C. लकडहा

रा

D. मोची



Q. 9 you are given a figure  followed by four alternative figures 

(1), (2), (3) and (4) such that figure  is embedded in one of 

them. Trace out the alternative figure which contains figure  as 

its part.

आपको एक आकृवत दी गई ह ैवजसके बाद चार िैकवल्पक आकृवतयााँ (1), (2), 

(3) और (4) दी गई हैं ताकक आकृवत उनमें से एक में अंतर्नावहत हो। उस 

िैकवल्पक आकृवत का पता लगाएाँ वजसमें आकृवत भाग के रूप में ह।ै

A B

C D

A. A 

B. B 

C. C 

D. D



Q.10 Select the option that is 

related to the third letter-cluster in 

the same way as the second letter-

cluster is related to the

first letter-cluster.

उस विकल्प का चयन करें जो तीसरे अक्षर-

समूह से उसी प्रकार संबंवित ह ैजैसे दसूरा 

अक्षर-समूह पहले अक्षर-समूह से संबंवित ह।ै

SNJ : UQL :: XPT : ?
(A) ZSV

(B) YSV

(C) 

YTW

(D) ZTU



Q.11 Statements: All slates are pencils./सभी स्लेट 

पेंवसल हैं।

All slates are pens./ सभी स्लेट पेन 

हैं.

Conclusions: I. Some pens are not pencils./कुछ 

पेन पेंवसल नहीं हैं.

II. Some pens are pencils./ कुछ 

पेन पेंवसल हैं. (A) Both conclusion I and II 

follow

(B) Neither conclusion I nor 

II follows

(C) Conclusion I follow

(D) Conclusion II follows



Q.12 Which of the following letter-clusters will 

replace the question mark (?) in the given 

series?

वनम्नवलवखत में से कौन सा अक्षर-समूह दी गई श्ृंखला में प्रश्न

वचह्न (?) का स्थान लेगा?

LAT, NDR, PGP, ?, TML

(A) SKO

(B) RKN

(C) SJO

(D) RJN



Q.13 Shyam travels 7 km. North, then 

he turn to his right and walks 3 km. He 

again turns to his right and moves 7 km 

forward. Now in which direction is he 

from his starting point?

श्याम 7 ककमी यात्रा करता ह।ै उत्तर, किर िह 

अपनी दाईं ओर मुडता ह ैऔर 3 ककमी चलता ह।ै 

िह किर से अपनी दाईं ओर मुडता ह ैऔर 7 ककमी 

आगे बढ़ता ह।ै अब िह अपने प्रारंवभक बबदं ुसे 

ककस कदर्ा में ह?ै

(A)North 

(B)South 

(C) East 

(D) West



Q.14 Find the missing number in the 

following question.

वनम्नवलवखत प्रश्न में लुप्त संख्या ाात कीवजए।

(A)2 

(B) 8 

(C) 

64 

(D) 6



Q.15 How many squares are there in the 

figure given below?

नीचे कदए गए वचत्र में ककतने िगा हैं?

(A)4 

(B) 5 

(C) 6 

(D) 7



Q.16 select the venn diagram that 

best illustrates the relationship the 

following classes .

उस िेन आरेख का चयन करें जो वनम्नवलवखत 

िगों के संबंि को सिोत्तम रूप से दर्ााता ह।ै

Telugu, Urdu, Poetry/ तेलुगु, उदूा, कविता

A CB D (A)A 

(B) 

B 

(C) 

C 



Q.17 Two different positions of the same  

dice are shown . select the number on the 

face opposite the face showing ‘4’.

एक ही पासे की दो अलग-अलग वस्थवतयााँ कदखाई 

गई हैं। '4' दर्ााने िाले चेहरे के विपरीत संख्या का 

चयन करें।

(A)2 

(B) 3 

(C) 1 

(D) 6



Q.18 Select the correct option that will 

fill in the blank and complete the 

series.

उस सही विकल्प का चयन करें जो ररक्त स्थान 

को भरेगा और श्ृंखला को पूरा करेगा।6,    9,     15,     27,       51, .... 

(A)99 

(B) 77 

(C) 

66 

(D) 

88 



Q.19 Select the correct option 

that will fill in the blank and 

complete the series.

उस सही विकल्प का चयन करें जो ररक्त 

स्थान को भरेगा और श्ृंखला को पूरा 

करेगा।
35,    40,    50,   70,    110,      ?

(A)140 

(B) 170 

(C) 190 

(D) 160



Q.20 One evening before sunset Rekha and Hema 

were talking to each other face to face. If Hema’s 

shadow was exactly to the right of Hema, which 

direction was Rekha facing ?

एक र्ाम सूयाास्त से पहले रेखा और हमेा एक-दसूरे से आमन-ेसामने 

बात कर रही थीं। यकद हमेा की छाया हमेा के ठीक दाईं ओर थी, तो 

रेखा का मुख ककस कदर्ा में था? (A)North 

(B) South 

(C) East 

(D) Data is 

inadequate 



Q.21 In a row of 45 candidates X is 17th from 

right and Y is 19th from left then how many 

candidates are there between X and Y?

45 उम्मीदिारों की एक पंवक्त में X दाएं से 17िें स्थान पर 

ह ैऔर Y बाएं से 19िें स्थान पर ह ैतो X और Y के बीच 

ककतने उम्मीदिार हैं?
(A)10 

(B) 8 

(C) 

11 

(D) 9



Q.22 Z is the son of L and the 

husband of G who is the sister of R 

and W then how is Z related to W?

Z, L का पुत्र ह ैऔर G का पवत ह ैजो R और 

W की बहन ह ैतो Z, W से कैसे संबंवित ह?ै

(A)Father 

(B) Brother-

in-law 

(C) Husband 

(D) Son



Q.23 Statements: All gums are cups / सभी 

गोंद कप हैं

Some powders are gums /

कुछ चूर्ा गोंद हैं

Conclusions: I. All powders are cups/

सभी चूर्ा कप हैं

II. Some cups are powder/

कुछ कप पाउडर हैं
(A) Both conclusion I and II 

follow

(B) Neither conclusion I nor 

II follows

(C) Conclusion I follow

(D) Conclusion II follows



Q.24 Statement: It is desirable to put the child in 

school at the age of 5 or so.

बच्चे को 5 या उसके आसपास की उम्र में स्कूल भेजना 

िांछनीय ह।ै

Assumptions:

1.At that age the child reaches appropriate level of development 

and is ready to learn.

उस उम्र में बच्चा विकास के उवचत स्तर तक पहाँच जाता ह ैऔर सीखने के वलए 

तैयार हो जाता ह।ै

1.The schools do not admit children after six years of age.

स्कूल छह िषा की आयु के बाद बच्चों को प्रिेर् नहीं दतेे हैं।(A) Only assumption I 

is implicit

(B) Only assumption II 

is implicit

(C) Either I or II is 

implicit



Q.25 A, P, R, X, S and Z are sitting in a row. S and Z 

are in the centre. A and P are at the ends. R is sitting 

to the left of A. Who is to the right of P ?

A, P, R, X, S और Z एक पंवक्त में बैठे हैं। S और Z कें द्र में हैं। A 

और P छोर पर हैं। R, A के बाईं ओर बैठा ह।ै P के दाईं ओर कौन 

ह?ै

(A) 

A

(B) 

X

(C) 

S



THANK YOU


